y-intercents

. All y-intercepts have an
X-coordinate of ZERO.

| K-intercepts
All x-intercepts have a

7_ 1 ~ y-coordinate of ZERO.

N SR oy niercapt 10 gaph nes, we
can use an alternative method of
using the x- and y-intercepts.
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ex1) ldentify the x- and y- intercepts. Then use them to graph the line.

2X-3y=-10

Tof ind ~K-intercept;
set y=0.

2xf57=-l
2%-5(0) -0
Ax =-l0
xX=5

(-5,0) is the
X-intereeet

To find V- “mteeceot,
set X=0.

AX - Sy ~K7
2(0) - 67

(0 ,2) Vs the
Y-tatteceel:
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ax+y=4

To find ~K-inkeeept, | To find \I—'m’rcrcep’r,

qx:,y:bl qx+\/=‘*|

LIX + (O\) =4 "{(O) Jr\/ =Y o 5 "y
L’)X :‘f \{ = L{
X = ( |
(1,0) isthe $ }I;‘*Zr‘cﬁ,’f

K-intereeet
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ex3d) ldentify the X- and y- intercepts. Then use them to graph the line.

_ 9
V+3—1

Tof i‘\A ~-interceph;
set y=0.

N+ - %x
(0)4% = 5%
b= FA
1= X
(F,0) isthe

X-intercget

To find \I—'m’rercep’r,
sel X:=0.

Y45 5
V3 : %(o) ]
YE5=0
y =3
(O,’S)(S”\Z

y—] nttecypt




GRAPHING EQUATIONS B

THEX & Y INTERGEPTRIMETH
ex4) ldentify the x- and y- intercepts. Then use them to graph the line.
-v = 5)(

Tof i'\é\ ~-intercepl;
set y=0.

~Y = 9K
-(0) =5x
016)(
0 =X




